A visit to the bakery

Name: 
  Date: 


Learning objective: To solve money problems in words.
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Work out the answers to the problems below in your exercise books.  Remember to show your working.
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	Croissant
45p
	Loaf of bread
80p
	French stick
42p
	Doughnut
35p
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	Muffin
52p
	Birthday cake

£5.45
	Slice of cake
£1.05
	Box of doughnuts 87p


1. How much would it cost to buy a birthday cake and a muffin?

2. How much would it cost to buy a doughnut, a croissant and a muffin?

3. How much more than a box of doughnuts does a birthday cake cost?

4. Mark bought a birthday cake and a muffin with a £10 note.  How much change did he get?

5. How much more than a doughnut does a loaf of bread cost?

6. Which is cheaper: two loaves of bread or four French sticks?  How do you know?

7. How many individual doughnuts can you buy for the cost of a box of doughnuts?

8. Leonard had £3.  He bought a box of doughnuts, a slice of cake and a muffin.  How much change did he have?
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Now try this …
Imagine that you are having a birthday party for ten people.  You have £10 to spend at the bakery on party food.  What would you buy?
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	Muffin
52p
	Birthday cake

£5.45
	Slice of cake
£1.05
	Box of doughnuts 87p


1. How much does it cost to buy a croissant and a doughnut?

2. How much does it cost to buy a muffin and a box of doughnuts?

3. How much would it cost to buy a loaf of bread and a slice of cake?

4. If you bought a birthday cake with a £10 note how much change would you get?

5. If you bought a muffin and a French stick how much change would you get from £1?
6. James had two 50p coins and a £1 coin.  He bought a slice of cake.  How much change did he have?

7. Jane had £2.  Did she have enough money to buy a loaf of bread, a box of doughnuts and a croissant?

8. How much cheaper than a loaf of bread is a French stick?


Now try this …
Imagine that you are having a birthday party for ten people.  You have £10 to spend at the bakery on party food.  What would you buy?
Answers

1. How much would it cost to buy a birthday cake and a muffin? 
£5.45 + 52p= £5.97
2. How much would it cost to buy a doughnut, a croissant and a muffin? 
35p + 45p + 52p = £1.32

3. How much more than a box of doughnuts does a birthday cake cost?
£5.45 – 87p = £4.58
4. Mark bought a birthday cake and a muffin with a £10 note.  How much change did he get? 
£5.45 + 52p= £5.97        £10 – £5.97 = £4.03
5. How much more than a doughnut does a loaf of bread cost?
80p – 35p = 45p
6. Which is cheaper: two loaves of bread or four French sticks?  How do you know? 
Two loaves of bread, because 80p + 80p = £1.60 and 42p + 42p + 42p + 42p, or 42px4 = £1.68
7. How many individual doughnuts can you buy for the cost of a box of doughnuts?
Two, because 35p + 35p = 70p
8. Leonard had £3.  He bought a box of doughnuts, a slice of cake and a muffin.  How much change did he have? 
87p + £1.05 + 52p = £2.44 then £3 – £2.44 = 56p
Answers


1. How much does it cost to buy a croissant and a doughnut?
45p + 35p = 80p
2. How much does it cost to buy a muffin and a box of doughnuts?
52p + 87p = £1.39
3. How much would it cost to buy a loaf of bread and a slice of cake?
80p + £1.05 = £1.85

4. If you bought a birthday cake with a £10 note how much change would you get? 
£10 – £5.45 = £4.55
5. If you bought a muffin and a French stick how much change would you get from £1?  
52p + 42p = 94p, then £1 – 94p = 6p
6. James had two 50p coins and a £1 coin.  He bought a slice of cake.  How much change did he have?
50p + 50 p + £1 = £2 then £2 – £1.05 = 95p
7. Jane had £2.  Did she have enough money to buy a loaf of bread, a box of doughnuts and a croissant? 
80p + 87p + 45p = £2.12 so she did not have enough money.
8. How much cheaper than a loaf of bread is a French stick?
80p – 42p = 38p
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